Prove Simple geometric chts o Line segments AB and CD are parallel.

EF is a transversal that cuts through the line segments at points X and Y

respectively.

Angle AXF =t
B / a) Draw a diagram to show this.
0 ABC is an isosceles triangle.
r € )
a) Write an expression for the /
f 2 5B

size of angle ACB. M . E
b) Show that angle ABC = 180 - 2x

Give reasons to support your answer.
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b) Show that angle FYD = 180 - ¢.
Give reasons to support your answer.

LABC = (8O — (ac+20) = \80 -2 becauns LEMD = £° ‘ecaune alkemake cuxcd\ab e equok.
AngeR - n e taange sum b 8D LFYD = (80 - becawr anged on o saighk

Wne s o \80°

E
o DEF is an isosceles triangle.
Show that ZEDF = 180-% x
2 o A triangle has interior angles a, b and c.
Give reasons to support your answer.
a+btc =180 becomse
LEDF + LEFD = \8D0 -x b ‘;:8“" o o triongle. sum
. \SO .
becaune onglen n o bl p F c+d= |80 becaun
Sum \%Oo. angun on a sN‘O\A'Sr\k
Wne sum B0 180 ,
CEDF - LEFD ‘mcowe (N an (Soscwten b\w\g\g_ a N~ otb+cC =ced
o OJS\QDOUQQ_%-\OJ" . atb=d
Show that d =a + b.
LEDF = 180=X

L

Give reasons to support your answer.
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o ABCD is a parallelogram.
Prove that triangles AEB

and CED are identical.

Give reasons to support

your answer.
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U\W\S\QD AED o CED are tankcol .

o KLM is a triangle.

Prove that triangle KLM is an isosceles triangle.

Give reasons to support each stage of

your workings.

L MK =
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o QPR is an isosceles triangle.

PS is perpendicular to QR.
Prove that PS bisects angle QPR.

Give reasons to support each stage
of your workings.

L?SQ & LPSK :C(OO be_ccwﬁt PS
IS erpa\dicalar o R

L PRS = Q0 -x becaur QPR s oswles
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a Use rules of parallel lines to prove that the sum of the angles in

a triangle is 180°.
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Otb +tC =\80 \vecomne QJ\S\UD on o sw-apg\\ﬁ' Line.

Sun B \80.

a=d ond C=€ Decaunt alkemok 01\3\20 o equad.

brare = braxc =180

Compare your method with a partner’s.
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